
Name: _________________    Mental Arithmetic: 20 mins  (Time taken: ______)    Score: __ out of 27	
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7192ml – 267ml =  
 
      
      
      
      
      
      

 

 
 

____ x 4 = 32 

287 – 20 =  
 
      
      
      
      
      
      

 

 
 

______ ÷  6 = 3 
 
 

984 – 700 =  
 
      
      
      
      
      
      

 



482 + 2676 =  
  
      
      
      
      
      
      

 

 
 

______ ÷  8 = 6 
 

8 x 9 =  
 
      
      
      
      
      
      

 

648 ÷ 8 =  
 
      
      
      
      
      
      

 

32 x 3 =  
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439ml + 3956ml =  
 
      
      
      
      
      
      

 

11.4 + 67.8 =  
 
      
      
      
      
      
      

 

5.55 + 28.9 =  
 
      
      
      
      
      
      

 

54.3 – 12.3 =  
 
      
      
      
      
      
      

 
 

8763 – 128 =  
 
      
      
      
      
      
      

 

8kg = _________g 
 
      
      
      
      
      
      

 

 

 If	 you	 managed	 to	 complete	 this	 in	 less	 than	 15	 minutes,	 why	 don’t	 you	 try	 one	 of	 the	 challenges	 on	 the	
following	website.	Bring	it	in	on	a	piece	of	paper	and	show	us	what	you	managed	to	do.	Good	luck!	

https://nrich.maths.org/8495	

	


